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x+30° HE%a, b O F& AL W, ab F& TSIzt
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> HE: ab=-6
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ABAE A
Pra®+bx+2=x*-x+1)-A+ (x+3)
A=(x+p)
WBra?+bx+2-(x+3)=(x*-x+1)(x+p)
Bra+b-Dx-1=(x-x+1)(x-1) ~p
g9e Gt

a=-2,b=3
s.ab= -6
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3. x+y+z=1 xy+yz+zx=2, xyz=3<L W, (x+y)(y+2)(z+x)
o] #t= oY

@ -2 @—1 ® 0 @ 1 ® 2

B ~

X+y+z=1°A

x+y=1-z
y+z=1-x
z+x=1-y

(x+»)0+2)(z+x) =(1-2)(1-x)(1-y)
=1-(x+y+2)+ (xy+yz+2zx)—xy2
=1-1+2-3=-1
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> =g 30
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(x=2)(x+2)2=(x-13+a(x-1)2+b(x-1)+¢
¥l x =2,-2,1& 27 st
O0=14+a+b+c¢,0=-27+9%-3b+c,-9=c
Al A& Aot EHa=5b=3, c=-9
~alb+c)=5%(3-9) =-30

B ,
FHHS AN & AR Eolk FH
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=x3+2x>-4x-8
=x-13+alx-1)2%+b(x-1)+c
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a=k—-2,b=3-2k, 3=k+1
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£(-2) = -50(-2) - 4
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a b 1
-1 -a+1 -b+a-1

1 a-1 b-a+1 -b+a

ol k=-1,c=-l,d=-a+1,b-a+1=-1,-b+a=2
ojlm=z
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A2 k9] 7he AT U e B P(x) o] A%7} obd AL

Al
A
3Tk

A ogk

® x-1 @ x+1 ® x-2 @»x+2 ® x+4

x4 208 4 ka? - 2x 4+ 87} x— 1 B UHpo] oA =&

B

P(x)=(x-1)Q(x)
“P1)=14+2+k-2+8=0
o k=-9
CP(x) =xt+2x3-9x% - 2x+8
= (x=1) (x-2) (x+1) (1 +4)
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O x-1 @x+2 ® 2(x-2)
@ 2(x+3) ® (x+1)(x-2)

o7l 2790 oJsf], A= A7NotH th3t 2t
RHx+X2-X=2x>+4x+2
X?-X=x*+3x+2,

(X - (x+2)][X + (x+1)]

A X =x+2EE X =-x-1




L S5 g(x) &) HLFMGE 2 =T+ 6
19, f(x) 2} g(x) O] HAFFTE G(x) 2 & ©, G(2) o #42?
®© -2 @ -1 (@)0 @ 1 ® 2
S8
F O f(x) % g(x) 9 HATRSE
L(x) = (x=1)(x* + x - 6)
=(x-Dx-2)(x+3)---Q
% 2 a4 £(x) o g(x) O] ARSI} G(x) Ol 2R
f(x) = G(x)A(x), g(x) = G(x)B(x)
(A(x), B(x)+= A=4) 2 s
f(x) + g(x) = G(x)A(x) + G(x)B(x )
= G(x){A(x) + B(x ) =
f(x) +glx)=Gx)E U+ 1’4’
Ff(x) +g(x) =2x2 - 2x - 4= 2(x —x-2)
= 2(x - 2)(x+ 1)---©
@, ©°A G(x) =
L G(2)=0




13. EBAFa?(1+i)+a(3+2i)+25 AFstH 29 A
A5 a9 & AT (HFi= V-1)

@® -3 @ -2 ®)-1 @0

) = (> +3a+2) + (a® + 2a) i = =35
Z a°+3a+2=0
a2 +2a#00]B2 - a=-1
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14. x, y7F S Aol 2 +xyi+y?-5-2i=0< W, x+y 9] F=

> E

A%nol SR Uit
(x* +y*=5) + (xy-2)i=0

¥ 4+y?-5=0---Q
xy-2=0---©

Q, O= dHstd
(x+y)2=x>+y2+2xy=5+4=9
Cx+y=3( x yE gy AdE)




7z=1S NS BaF g, noltotd 1+ =2 L ™, 71 20
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z1=a-+bi,zn=c+di
(@ b, c,d =AF)EEOH

Zi=a-bi,z=c—-di 9|BE2

z1-71 =1 94
2+ =1.--G
2272 = 1 9|A]

c+d*=1---©
z+z=2%NMa+c+(b+d)i=2
2457) HE 28 2] gl
at+c=2,b+d=0

8-02 s

a?-2+b*-d*>=0

(at+c)la-c)+ (b+d)(b-d)=0

O™ b+ d = 0°1BE (a+c)la—c)=0

ca=-cEEa=c

z1°22=1




16.

=) =,

e Fotelet

(%, X530 = x+yi o] AeflBadoltt)
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) = :1— i
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x+yi=1+43i
a=1, b=3
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ol A

°

T k2 groll AL

=

(k—4)?+4a-16>0

2 —kx+ (2k—a) =0
Al

PEERS EE

k> -4(2k—a) 20
k2 —8k+4a>0
9 2542 kol of



19. 22— dkrt (5-K2) = 00] 5 At o, S 712 1), o + 2 9] H57S
atolat,

> E:

> Het: 8

B \

D/A=4k>-(5-k*) >0
4% -5+k>>0,5k2 =5, . k2>1
a+pB =4k aB=>5-k
@2+ B2 = (a+B)? - 28
= 16k? — 10 + 2k?
=18k* - 10
18k? > 18, 18k% — 10 > 18 — 10
a®+p%>8, .. (AEF)=238




2% a, bol Hhokel FH y = 22 - a%h AM y = br7h WP
A2 P, Qe @k A PO k3 EA 2+ V3L 0 0t b9 FH2?

@ 1 @ 2 (@)3 @ 4 ® 5

B

y=x>-a
y = bx

bx=x>-a . P,QY xHEE x2—bx—a =09 F Zo|T}.
A PO x3HE7F 2+ V3OIEE,

A2 2 - V32 3 QO] xFoltt.

<3t Alg-2te] A of &J A

b= (24 V3)+(2- V3) =4

—-a=(2+V3)2-V3) =1 . a=-1
La+b=(-1)+4=3




21. P=(2+1)(22+1)(2* + 1)(28 + 1)(2'6 + 1) o] ZL& 3192

D)232 -1 @ 23241 ® 231 -1

@ 231 +1 ® 2'7-1

Fol A (2-1) = 1S FH 2 HelA| Feu=z
P=02-1)2+D22+1)(2*+1)(22 +1)(216 + 1)
22-1)(224+1)(2* +1)(28 + 1)(2'6 + 1)

24— 1)(24 + 1)(28 + 1)(2%6 + 1)

= (
= (

= (2% —1)(2'° + 1)
=27 =1




22. RE A% o] tiote] P(x2+1) = {P(x)} 41, P(0) = 0

27} of5ke] A P(x) 9 ASS] 7

Do @1 3 2

@ 3 © F=3] W

B

P(x) = ax® + bx + c 2} 5tH

P(0) =04 c=0.. P(x)=ax®+ bx

P(x2+1) = {P(x)}* +10]B2

a(x> +1)2+b(x2 +1) = (ax®> + bx)?> + 1

ax* +2ax? + a+ bx®> + b = a®x* + 2abx® + b?x% + 1
o] A48 vl Lot

a=a’ 2ab=0,2a+b=0b% a+b=1
a>=a%ta+b=194

(a, b) = (0, 1), (1, 0)°] H=H|

o] % (1, 0)2 2a+b = b WE3IA] FOHE (4, b) = (0, 1)
P




23. A (1+x+x°) = ap+arx+ax® + .. +agx® °] xof gt F54 L

o, a1 + as + a5 + a7 & A7

O 28 @ 26 ® 15

@ 14 ®)13

B

o] x =1 HYstH
¥=atat+az+--+ag-Q
I x = -1& thYstH
PB=a-ai+ay+-+ag-O
Q-0©:26=2(a; +as+as+ar)
Soap+as+as+ar =13
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25. 1983 + 2003 + 2023 — 3-198 - 200 - 2022 7VH5] 5HH?

@00 @700 G)r200 @ 700 © 7600

B

198 = x,200 = y, 202 = z 2t 5}

1983 + 2003 + 2023 — 3 - 198 - 200 - 202
=x3+y> 4+ 23 - 3xyz

=(x+y+2)(x* +»* + 22 - xy - yz - 2%)

ey D=3+ (- + = 2P

%x600><24

7200




. xol TSEA L] oFA A(x) = xf - 10x2 +9, B(x) = x* = x3 - Ta? +

x+6, C(x) =x(x-3)(x2 +a) — (x=3)(x? + b) + 8 9] Hhx+7}
ozt W, a + b 2] FH?

A(x) =x1=10x2 +9 = (x = 1)(x+ 1)(x = 3)(x + 3)

Blx)=x*-x3-7x>+x+6
=x-Dx+1)(x-3)(x+2)

- O] AT (x - 1)(x + 1)(x - 3)

I3 G C(x) & x - 322 rojgojx|z] gfomz

Al ordA o] At FeF e (x - 1)(x + 1) oI

A C(+1) =0

(I)=-a+b+4=0,C(-1)=a+b+4=0

=0, b=-4°a+b=-4
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10 oJske] Zd 4= nofl di s,

FEL? (Hi=V-1)

® 10 @ 12 ® 14 @ 16 ®)18

B

e N\a)
"=-10B& n=4dk+2(k=0,1,2,3,---)
n°] 10 oJste] 2ol Eg n = 2,6,10

S 24+6+10=18




2= V5 +i5 WHsE Bha o tiste] 7 9] g2 (Thz e

DV @V ®2 @ vs G

z=x+yi(x, yEAF)E F2W (x+yi)? = V5 +i

x% =2+ 2xyi = V5 +i oA BapTt AR TS 27 9Jstd
¥ -y2=5 2xy=1

Z = (x+yi)(x—yi) =x2+)y? O|B&

(x2 _|_y2)2 _ (x2 _y2)2_|_4x2y2 _ (\/3)24_4(1)2 6

P+ >0018E x2 +)% = V6
wz= V6

B )

2=V5+i,22=V5-i
22 =(V5+i)(V5-i)=6
=+ V6

>0°|22 7= 6

R &
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W=TT i

D, (w4 20%)2 + (2wt w?)? ] & FoA L.

[
=

>
> Het: 3

B

oo L VB 14 VB
1— V3i 2

wiw+1=0, wi=1

S (w2w?)? + (2w + w?)?
=(w-2w-2)24 (2w-w-1)
= (-w=2)% + (w=1)2
=w?+4aw+4+w?-2w+1
=2w? +2w+5
=2w*+w+1)+3
=3




® 5 @ 4 ® 3 @ 2 O

OIAFHA - (p+4)x+q-2=09 F ZZa, a+22
st

VP +4)?-4(q-2)
1

VPP +8p+16-4g+8=2

FH= A Esto] gofl Tl F2stA

4=p>4+8p+16-4qg+8,4g = p>+8p+20

1

1
q=1p2+2p+5: Z(p+4)2+1

Lop=-4¥ W g=12 &S 7RI

e +2—a| =

=12l

B

F 22 o,p otH
a+B=p+4aef=q-2

T 29 71 20122

la=Bl= /(a+pB)?>—4aB =2

VP +4)?2-4(g-2) =2

I Algotd

(p+4)?-4(g-2)=4

g°ll sl g =lstH

q= ;l(p+4)2+1

L p=—-49 W g=12 FHEgE 7
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y2 _ y2 — y2
_y2

94




. oxo) BE O] f(x) B 2 4+ 12 UEE YHATE x4 10]3, x - 1

2 Wb L7 golch, o B £(x) B (¢ 4+ 1)(x- 1) 2 LHe
whe] Lpvi ) o] 452 Fofeler.

f)E (P +1)(x-1)
ax® + bx + c(H, a, b, c = AS) 211 5HE,

f(x)= (2 +1)(x-1)0(x) + ax®> + bx+ ¢

I3 f(x)E 2>+ 12 HFA YA 7 x+ 10|22
fx) =+ (x-1)0x) +a(x®>+1) + (x+ 1)

E f(x)E x-12 WFE UHA|7t 40]88
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